SCH 3U1
YIELD
Recall:
1.  What is a limiting reactant?


2.  What is an excess reactant?


3.  Which one do you use to calculate the amount of product?
Yield
In any chemical reaction, you can calculate the amount of product you should make, but in reality, you get less than that.

Reasons:

a) Conditions are poor – e.g. too hot or too cold or there is a limiting reactant

Example:  
6CH4  +  12O2  (  6CO2  +  12H2O


If the process does not supply enough oxygen …



6CH4  +  9O2  (  2CO2  +  12H2O  +  2CO  +  2C

b) Side reactions occur, or desired products react further

Example:
C3H8  +  Cl2  (  C3H7Cl  +  HCl


The product, C3H7Cl reacts further with remaining Cl2 …



C3H7Cl  +  Cl2  (  C3H6Cl2  +  HCl

The actual yield for a chemical reaction is less than the calculated theoretical yield that you would expect.

theoretical yield – _______________________________________





 _______________________________________


actual yield - 
________________________________________
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